Solutions for In-Class Problems 19 for Monday, April 9
These problems are from Pre-Class Problems 19.
1.
Solve the following systems of equations using Gaussian elimination.
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b.    
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SOLUTIONS:
1a.
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Back to Problem 1.
First, form the augmented matrix for this system of equations:
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Row 3 reads 
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, which is a true equation.
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Let 
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Answer:  
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1b.
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Back to Problem 1.
First, form the augmented matrix for this system of equations:
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Row 3 reads 
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, which is a false equation.

Answer:  No Solution

1c.
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Back to Problem 1.
First, form the augmented matrix for this system of equations:
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Row 3 reads 
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Row 1 reads 
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Back to Problem 1.
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Row 3:  
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Row 2:  
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Row 1:  
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